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£ Python B B PHIZEF SR &, H4h, HATLUEA intersection( ) 7 ¥ 52 XA T E .
BBl ch10_3.py : AR¥ 5WH 2 AN ELAE, XMERFLFLANSMX 2 AELBENRA.

1 # chile_3.py

2 math = {'Kevin', 'Peter', 'Eric'} # WTESHEEE S E R 5
3 physics = {'Peter', 'Nelson', "Tom'} # ITESINAE S EE1K 5
4 bothl = math & physics

5 print("FEHSINEESYMESEINREA ", bothl)

6 both2 = math.intersection(physics)

7 print("FERESINECESYAIE S S5 ", both2)
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BFKPI ch10_4.py . AR%EME 2 AN ELE, RAMRFLFIHSMBERYEE 450 FTH
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1 # chle_4.py

2 math = {'Kevin', 'Peter', 'Eric'} # WESHEEAE S5 MR R
3 physics = {'Peter', 'Nelson', "Tom'} # WESINYFRE S5 8% 5
4 allmemberl = math | physics

5 print("SHNEL oI E S E 1980 ", allmember)

6 allmember2 = math.union(physics)

7 print("SHNELEREIE S S0 A ", al lmember2)
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